AERIAL OY PRODUCT CATALOQUE

10N

o’
©
©
o’
N
-

%Mﬁ?@

x,y x..
g/

Ly

0
%ﬁ% ﬁy
BT S ,,”. x:.,_“ fvf,x.v} *
;.fﬁf..,ﬁﬁi !w?rﬂﬁﬁ%ii- DHR N

@ﬁ.f..} 2N R %xff f,f ﬁw
E w0 ,” o //x

_ ;//,,,:,,, f//../

"

5
/

http://www.aerial.fi
aerial@aerial.fi

Tel. +358 9 2790 120
Fax +358 9 2910 210

04401 Jarvenpaa

Box 22

ial Oy

Q—l« Aer



MOUNTING ACCESSORIES : ROOFTOP ANTENNA MAST AM100

ROOFTOP ANTENNA MAST AM100

Type AM100-5 AM100-7 AM100-10 AM100-12

Height 5m 7m 10 m 12 m

Cross section A 100 mm [ A 100 mm | A 100 mm | £ 100 mm

Weight (without rail weights) 50 kg 68 kg 92 kg 115 kg

Top load 1m’ 1m’ 1m’ 1m’

Material Aluminium or steel, base rails always aluminium
Rail weights concrete

Coating Steel: Hot dip galvanised

Options Painting

Mast pipe in two or more pieces

Aluminium parts anodised

Safety rail

Featuring Adjustable base structure and supports for non-
planar surfaces

Mast pipe tilt

Ladders

Aer | 0 | o Box 22 Tel. +358 9 2790 120 http://www.aerial .fi
y 04401 Jarvenpaa Fax +358 9 2910 210 aerial @aerial fi

Finland



MOUNTING ACCESSORIES : AMRT

ROOFTOP MAST AMRTXXX-YY-2

=
=

a ;
-
/\
\A
o/

|
PN
g

|

BLd

Type AMRTXXX-YY-2

Dimensions See above drawing

(HxW x D) (0 x H) | XXX=tube diam. (60,100,114)
YY=tube height (0-12m)

Weight 100 kg up
Materials Hot dip galvanized steel
Versions -
Options Height
Color

Material (Aluminium)

Box 22 Tel. +358 9 2790 120 http://www.aerial.fi

A‘E ri a I 04401 Jarvenpaa Fax +358 9 2910 210 aerial @aerial. fi
Finland




—

l
SM
iyt U4 kB /M
Wby @R (Byid ED 1 gV E x
BIE MR o0, SlE—b-ii ' o0 1
@ sual - Ky @40 N ~
/ - >
IEDNV / /684 _ _._< Vi Sl e
L IO bt 10 S E
WWigg =4 W=l “adaddy -— M 1 =< 1
£ usnduceen ] il I N
BIBAId (D18 CIoeweEy SIPpIL 0zt AU = B(L B
Z usnducosn SUBID SOUCHE|bL * 1| 0oz oH| wweg 4 o &= *N
QI—C—OBLIHAY | |z|8=z|=z=
L_usnduceeg WM peibesey|  epos #|  WozH) ubisg o =1 b = =
>
B | N e
SB[
..nmh_ — (N

O e TExa e




960.3x2.5..3 Q9D

—_—_——

MIZx15Q vaarna
M12 aluslevy OIN125

M1Z DINT34

M1Zx13L

e Dexign |Z7 870D ot Scule  (Asmrhatet with
arrs Lis Drewn |2723008 |et p—
ltem [Bty]  Stamdard Material p— 1:7q [T S
1 16 |DIN 934 - M12 Hzn —
2 4 [M12x1530 Hzn A Oata
3 |Z[ON1Z5-AT3 Hzn = @hhﬂﬂ Oy
B B [DIN 960 - MIZ x 1.5 x [Hzn Nass -T2 Foc BTN B
130
WG

3 [




ENENIEIS

®101.6x3.6..6 000

i

¥ O

5

w

=

T

0 XL

09X CLIN

0TXCLN- 09XCLIA

Design |28.5.2001 |at Scale  |Associated with Description 1
AMRT100—-6—3—1
Drawn |28.5.2001 | at 190 Tolerance class Description 2
Check : iddle Putkimasto
Description 3
Approv. Painoilla
Plot Date Material 1
—E—@ . Fe37 / AMgSI
Aerlal Oy Outline size
Mass Tel.+358-9-2790 120 Fax.+358—9-2910 210
Box 22 04401 Jdrvenpdd Finland
http://www.aerial.fi aerial@aerial fi
DWG

LFRAL O TORMEEATE. 0 STOTER\STAOHTE gl




M1Zx10GQ DINT33
M1Z mutt BINT34

—M1Z akevy DIN1Z3

A |5:1)

SROKKKXK]

;\

M1Z mutteri+aluslevy
melemmin puslin

M1Zx100 DIN933

A (5:1)

M1Z aluslevy

M1Z mutter

Denpriptinm 1
Dadoription 2
Deaprigtion 3
Motarigl 1
Quiling size

Sooln

Amyociotod with
o @a Aerlal Oy

Agprov,
Mol Dok

Dasign
Drawn
Chpok

Noan

W&

Alumiinigrsi

Befronipaim

s ) [N

Maste MLTD/Z0-4

38

BIN 934 - M12

[N 933 - M12 x 100

3

GIN 125-7 - B 13

Tukijalka L&0x4 Hzn

m W W N =

Tukijalan
arsikiinmitin Hzr

—_
=

UL (E-110-555
Kiinrity spala

1

OIN 125- A 13

1z

- pultti M12x55

13

BIN 932 - M12 x 20




0 ¥ 7
OMd
LI0UOD@IDUOD 11 RLRO" AR/ /10Ny
PUSNLY RUBNRY LOVKO T3 X08
01 01058080 +'301 031 0ALT-8-BSE+TBL 860
az)8 sulinQ 8 eLa
e ey O
L o@D 1ed 10ld
*A0sddy
¢ uopjdusssg I
PndoX|of 094 ¢ . $o0YD
7 uondussag S80|3 DOUDIB|O] oLl 0 0002'8'g| umbig
1—-S—09NV —
L uondusseq YIM peypioossy |  e|pog b 0002'8°8 | ubiseg

000 E6'CXE'090

16x16

05¢

00

N

250

25

4




I} I} m
oMa
LIOUOOGIDOD 11 PLRO AR/ /10Ny
BUSLY GRRUSMAR 1OVYO T X0B
017 040T—8-0+'x01  OT1 08LT—8-NSr+10L SBOW
8z suyIng a el
e ey O
L IDLRYON 91ed 10ld
*nosddy
¢ uojjdusseqg I
pNdRXIDr 001 # : oLl A28UD
¢ uondussag SSD|Y BOUDIA|O) 10 0002'8'8| umnig
1 —€—00 AV —
| uondusseq UM peibloossy | ©|Dog o 000Z'8°B| ubiseq
000 €

16x16

250

25




MOUNTING ACCESSORIES : AMTP100-76-1

TELESCOPIC TUBE MAST AMTP100-76-1

|
-
Lo
L
L
™y
7
-
[
a
] dq 1
J :;_.*
= G M12¢ 38 DINGII
1 [ -
1 - -
L ]
«
L -]
1t
o
o
~3
@
o
Type AMTP100-76-1 |
Dimensions (H x W x D) (O x H) | See above drawing
Tubes 76/100 mm
Weight 42 kg
Materials Hot dip galvanized steel
Versions -
|| I » Options Height
Color
Material (Aluminium)

. Box 22 Tel. +358 9 2790 120 http://www.aerial.fi
Aer | ':] | 04401 Jarvenpaa Fax +358 9 2910 210 aerial@aerial.fi
Finland



300

1 2 3 b | 5 ) | 1 | 8
™\ | 4 N
300
30
M12 kierrefalkki S
molemmilla puolilla e N ]
- - ] —
—_—_ e ——_—.—_—. — —— _a\_ —_—— —]
L
~
J \ \ J \. \ J
| 4 | | ™\
N I I D
<
S
m
T Y
Design |26.2.2001 |at Scale Associoted with Doscription 1
| | Kattomastan betenipaino
Drawn |26.2.2001 |at 1:2 Tolerance class Description 2
| | Check middle Description 3
Approv.
| | Plot Date EI $ Material 1
| | @I« Ael'ial oy Outline size
Mass Tel+358-8-2780 120 Fox.+368-6-2810 210
Box 27 04401 JErvempld Finlond
| \ | | 4 PRS//UVVOHELTT GorOROR AT
DWG
1 | ? | 3 A | U G T e T T




MOUNTING ACCESSORIES :

TUBE MAST BASE PLATE WITH TILT AMTPL250-1

320

Dimensions (H x W x D) (O x H)

]
T HE -
I - L=
A 1
o g =
- 200 -
2 O e
T
I| I|_ 1
= = " M1 140 DG
| W S M1Z mytt N
1110
& =
.
r"m -
Type  AMTPL250-1

See above drawing

Weight

11 kg

Mounting diameter

For base plates AEF60 or
AEF100, for tube masts

Materials

Hot dip galvanized steel

Versions

Options

. Box 22
04401 Jarvenpaa

Tel. +358 9 2790 120
Fax +358 9 2910 210

AMTPL250-1

http://www.aerial.fi
aerial@aerial.fi



10

T TiT ,_H“II —H i 1T - B

500 -
145

500

200

190

&
o]

M12x 140 BINS31
M12 mutt. BING8S (Nyloc}

280
200
©

Vs )
~
O

03 ©
n ‘ 200 Design | 14.8.2000 |at Scale | Associated with Description 1
) o - o AMFT—500-250—1
4 hd Q Drawn |14.9.2000 |at 1:4 Tolerance class Description 2 -
Check M . Iso tyvilevy saranalla
1 25 middle Description 3
81. 5 Approv. Kokaonpano
- L Plot Date Material 1
45-@ . Fe37 Hzn
utline size
Aerial Dutine = F
Mass Tel+358-8-2760 120 Fox.+368-6-2810 210
Bex 27 04401 JErvenpl8 Finlond
Mkpe// WV gerielfT ceriBoeriole
DWG
1 Vi 3 [ 0 O 5 A Y




MOUNTING ACCESSORIES : ANTENNA MOUNTING FRAME FOR A 60, A£100 AND A£114 MM TUBES

ANTENNA MOUNTING FRAME FOR A 60, £100 AND A£114 MM TUBES

adf
91z

L‘%

Y

wj

For 260 mm/ =101 mm/ 114 mm tube

yan
&J

-

Type AEMF120-800-1
Dimensions (H x W x D) (£x H) [260 X 260 X 800

Weight 3 kg

Mounting diameter /60, 100 or 114 mm pipe
Materials Aluminium

Versions Different lengths available
Options Hot dip galvanised steel

. Box 22 Tel. +358 9 2790 120 http://www.aerial fi
Ae rig | O 04401 Jarvenpad Fax +358 9 2910 210 aerial @aerial fi
y Finland



MOUNTING ACCESSORIES : AEF60-250-1

TUBE MAST BASE PLATE AEF60-250-1

209

D) O
50

Type ' AEF60-250-1
Dimensions (H x W x D) (O x H) [ See above drawing
Weight 6.3 kg
Mounting diameter 30...60mm pipe
Materials Hot dip galvanized steel
Versions -
Options -

. Box 22 Tel. +358 9 2790 120 http://www.aerial.fi
Aer | ﬂ ' 04401 Jarvenpaa Fax +358 9 2910 210 aerial@aerial.fi
Finland



L L AR it

1225

MOUNTING ACCESSORIES : AEF100-250-1

TUBE MAST BASE PLATE AEF100-250-1

i
] .'l. ETL_ 1\ .‘
! . ™ ]
i ) 1
f kY -
— '._. A
[ ..:::j§ ""ul E" 1 l
'T.' i %
Y o
' . L
-.... ..Il"_
_. S
0%
|
i "‘:l._\ )
B
=l
P . _\_-\;:\'-\.
f* oy,
A 5
‘g 7 o
i ] . "_l.: 1 |l|
= )’ =
= | o 5
W A )
\ A
,-.-"Z;'-'-:w:““‘qu. o g I
ey i ; -
e = .
5 ?
i o~ o~
L L,
1
150

Aerial Oy

Type ' AEF100-250-1

Dimensions (H x W x D) (O x H) [ See above drawing
Weight 5.7 kg

Mounting diameter 60...100mm pipe
Materials Hot dip galvanized steel
Versions -

Options -

Box 22
04401 Jarvenpad
Finland

Tel. +358 9 2790 120
Fax +358 9 2910 210

http://www.aerial.fi
aerial@aerial.fi



&0

110

Kierre vastapalassa

Denlan (2512001 |t Scele  |Asedcialed wilhy Deecriplien 1
Aesnnuepatie
Brown 2512001 (ot 1110 [Twones dase Deecriplicn Z
Cheek ‘ migee Becerion 3
(o1
Apprev._
Flot Date Meteril 1
1R Fes7
— Aerlal Oy Outine &ze
Vass T T zmr
Fi e Al i B 27 DHE Mnarplll Pitarsl
T-varsie ZZkg, Al-vemio 7kg oy
WG
z 3 A Drawing ! dwg




Dendgn 25.1.20¢1 |at Scde

Orovn (2512001 (ot

Descriptier 1
Ttkas la srimepanta

Talamnes closs

Check 1:10 e $101_putkulle
Descriptier 3
Aprav.
Pasl Certar Matariel 1
X X74
=& (@* Aerial Oy (S
M Tl -2 126 no
Fe—vereid Z7Zke. Al-veré 7kq :ﬂ”"‘““"‘:“"‘-

owe
Oroving T.dwg,




| 2 3 L 5 & 1 B

PB0x5 AL.150%

Asprar__1 290 /T'
¢ A
-y
V U7 I |
B
L
M1 2x2%
M12x3G B
M12x 30
li' -i
ﬁ -
—
Ad—
E
Dezeription 1
AEMKSA0-70-15Dd—1
Ouseription Z —
|Selnfosennussarfa |
eecriplion 3
Material 1
Fa¥7 / AIMgSt
Cutlire olze F




656

o
=
LN
A
>
S
O
S8
!
o
0 o]
o
IS O
(=) el
o o
© o] Design at Scale Associated with Description 1
° Seindasennusteline
Drawn at 1:4 Tolerance class Description 2
Check ’ middle AEMK500-70-1500-2
Description 3
Approv.

Plot Date 3 $

Mass

% Tel.+358—9—2790 120 Fax.+358-9-2910 210

Box 22 04401 Jdrvenpdd Finland
http://www.aerial.fi aerial@aerial.fi

Material 1
Al / Fe Hzn

Outline size

DWG
L Y B




o o A
L
L=
[Fa)
S
L
=<
=)
0
e
o
|
As.prof..300
Design Scale | Associated with Deseription 1
AEMK70-60—1500-1
Drawn arn 1:10 Tolerance class Description 2
Check " middle Kattokiinnike
Description 3
Approv.
L-kulmat rei’itetaan asennuspaikalla Plot Date 45_@ Hoterial T
-
Ael'lal oy Outline size
Mass Tel+358-8-2780 120 Fax.+358-6—2810 210
Box 22 04401 JErvenpld Finlond
Pikpe// v cericl.fi cerivieerielfi
DWG
7 3 1458 L NP\ GO 8 A




L3 BLbE & 8BELA XL OALE 80T W 830N
oz8 dunht a |euay L@v _
L_loeion @ m e1q 100

[TET UUIPINNG ol «NoSox “rouxddy & -
¢ uapdubeag
ARG | onpi . ) s
Z_uajydpaseq sstra eouvuere| OCH bomo v e
88/8BNaH
e uyym pepoossy|  8jesg uBmea ry

200

JC

10
200
o

90|

200

\
=
=
&
x
<

gl

&\/\"ﬂ

MI6x140 + 2xmutt,

MZDx 100 + mutt

Ai2)

ar

0009 68 1




ama
WYk B ppbptinnn/ /W
Pulpay Wl (DrvD o
A due-d-ighs oz Sha—-d-B L SSON
; e KQ JepeY HER' [
L IDLIEN 91641 101
Aty
¢ uodLRbsg .
. g
I LTI BOD|% BIUDIHGL il bt umsag
URUEERIEAR] S[oM|DSrDH] 5
AL UM pBiCiadesy|  Bloag uBpag
d
a
Q —] ]
|
d _._ ;
o ] —
Y




V|
amg

oo gempdeienar/ /ey
Puling PN Dpid B0 TR
AIE SLdg—R-i iy 2L Gha—D-ki -L1-T]
= ewsl KQ ROV HCR [
b DRSOy 0 1
B uspeleissg sty
u
SIpISd By pEnay i . A2
Z ushduatim BEDIS WHUBIGN ] ey " umbig
1 -5-DBAV
L uspeuowsn VIM pRIDpossY|  BIboR ubjheg

—
L]

MIZ vaarmat palkista Lapi {4 kpl)




MOUNTING ACCESSORIES : AETMXXX-60-115-1

TUBE MOUNTING SET AETMXXX-60-115-1

1 1
| — = \
|- |
130
D115 max
1 1
| — = \
|- [N
Parts list | pcs |
U40-160 clamp 1
U40-XXX-110-160-1 clamp |1
M12x250 headless screw 2
M12 nut 4
Type AETMXXX-60-115-1

Dimensions (H x W x D) (O x H)

See above drawing
XXX=bracket length (100 in
picture)

Weight

2.8 kg (100mm bracket)

Mounting diameter

max 0150 mm pipe
060 mm mounting pipe

Materials Hot dip galvanized steel

Versions -Bracket length (100,300,500mm
in stock)

Options _

Box 22

L
04401 Jarvenpaia
Ls Aerial Oy o,

Tel. +358 9 2790 120 http://www.aerial.fi
Fax +358 92910 210 aerial@aerial.fi




MOUNTING ACCESSORIES : AETMXXX-60-115-2

TUBE MOUNTING SET AETMXXX-60-115-2

[D]
[ 1]
T

168

130

2T ®115 max.

1 1
r
C—+ H )
Parts list | pcs |
U40-160 clamp 1
U40-XXX-110-160-1 clamp | 1
U12-80 U-screw 1
M12x250 headless screw 2
M12 nut 6
Type | AETMXXX-60-115-2 \
Dimensions (H x W x D) (O x H) See above drawing
XXX=bracket length (100 in
picture)
Weight 3.1 kg (100mm bracket)
Mounting diameter max 0150 mm pipe
060 mm mounting pipe
Materials Hot dip galvanized steel
Versions -Bracket length (100,300,500mm
in stock)
Options -

. Box 22 Tel. +358 92790 120 http://www.aerial fi
Ae rl 0 I O 04401 Jarvenpaa Fax +358 92910 210 acrial@aerial.fi
N y Finland



MOUNTING ACCESSORIES : AETMXXX-60-115-3

TUBE MOUNTING SET AETMXXX-60-115-3

Parts list pcs

U40-160 clamp
U40-XXX-110-160-1 clamp
U40-110 clamp

M12x250 headless screw
M12x120 screw

M12 nut

QDIN|N ===

[T1]
[@]

g 3w
[5)
N_G @115 max

§ B
M12><12{}/ L

130

[T]
[LIH]

Type | AETMXXX-60-115-3 \
Dimensions (H x W x D) (O x H) See above drawing
XXX=bracket length (100 in
picture)
Weight 3.1 kg (100mm bracket)
Mounting diameter max 0150 mm pipe
060 mm mounting pipe
Materials Hot dip galvanized steel
Versions -Bracket length (100,300,500mm
in stock)
Options -

. Box 22 Tel. +358 92790 120 http://www.aerial fi
Ae rl 0 I O 04401 Jarvenpaa Fax +358 92910 210 acrial@aerial.fi
N y Finland



A
’ @
C
E
Design Scale | Associated with Description 1
Jatko 80-60
- Drawn arn 1:2 Tolerance class Description 2
Check ’ ;
middie Description 3
Approv.
Plot Date Material 1
45-@ -
F Ael'lal oy Outline size
Mass ToL+358-8-2760 120 Fox+368-8-2810 210
Box 27 04401 JrvenpB Finland:
Pikpe// Vv cerial.fi cerciBoerile
DWG
L N LN N TN iy




MOUNTING ACCESSORIES : AETM50-200-110-1

TUBE MOUNTING SET AETM50-200-110-1

UL

o
¥
&S
=
.+—
&
%
%
2
TJ
5
&
M | Tl
‘L.L..I ‘ LLI
Us0-380
M1Z2x150
Parts list pcs
U50-380 clamp 2
1011 U40-110 clamp 2
L0 0 M12x250 headless screw |2
M12x150 headless screw |2
M12 nut 8
Type | AETM50-200-110-1
Dimensions (H x W x D) (O x H) See above drawing
Weight 6.8 kg
Mounting diameter See above drawing
Materials Hot dip galvanized steel
Versions -
Options _

. Box 22
04401 Jarvenpaa
Ls Aerial Oy o,

Tel. +358 9 2790 120
Fax +358 92910 210

http://www.aerial.fi
aerial@aerial.fi



MOUNTING ACCESSORIES : AETM50-380-1

TUBE MOUNTING SET AETM50-380-1

e
130
80
© OO O O @‘
350
@200 ma, [with M124250)
©335 max. [M12 threaded rods)
Iy ‘ (L
Type  AETM50-380-1

Dimensions (H x W x D) (O x H)

See above drawing

Weight 5.5 kg

Mounting diameter See above drawing
Materials Hot dip galvanized steel
Versions -

Options -

Qﬂ« Aerial Oy

Box 22
04401 Jarvenpad
Finland

Tel. +358 9 2790 120
Fax +358 92910 210

http://www.aerial.fi
aerial@aerial.fi



MOUNTING ACCESSORIES : AETM160-1

ANTENNA MOUNTING SET AETM160-1

@
-
(@
@
@
@
Parts list pcs
U40-160 clamp 4
M12x250 headless screw | 4
M12 nut 8
Type | AETM160-1 \
Dimensions (H x W x D) (O x H) See above drawing
(pipe not included)
Weight 1,9 kg per point
Mounting diameter 50...115 mm pipe
Materials Hot dip galvanized steel
Versions -
Options -
Box 22 Tel. +358 92790 120 http://www.aerial.fi

Ae r’i 0 I O 04401 Jarvenpaia Fax +358 92910 210 aerial@aerial.fi
y Finland



MOUNTING ACCESSORIES : AETM160-2

ANTENNA MOUNTING SET AETM160-2

®
@
(@
@
®
@

Parts list pcs
U40-160 clamp 4
U40-110 clamp 4
M12x250 headless screw | 4
M12x100 screw 4
M12 nut 12
Type | AETM160-2 \
Dimensions (H x W x D) (O x H) See above drawing

(pipe not included)
Weight 1,9 kg per point
Mounting diameter 50...115 mm pipe

60 mm mounting pipe
Materials Hot dip galvanized steel
Versions -
Options -

Box 22 Tel. +358 92790 120 http://www.aerial.fi

Ae r’i 0 I O 04401 Jarvenpaia Fax +358 92910 210 aerial@aerial.fi
N y Finland



MOUNTING ACCESSORIES : AETM160-3

ANTENNA MOUNTING SET AETM160-3

Parts list | pcs |
U40-160 clamp 8
M12x250 headless screw |4
M12 nut 16
Type | AETM160-3 \
Dimensions (H x W x D) (O x H) See above drawing
(pipe not included)
Weight 3.5 kg per point
Mounting diameter 50...115 mm pipe
50...115 mm mounting pipe
Materials Hot dip galvanized steel
Versions -
Options -

Box 22 Tel. +358 92790 120 http://www.aerial.fi

Ae r’i 0 I O 04401 Jarvenpaia Fax +358 92910 210 aerial@aerial.fi
N y Finland



MOUNTING ACCESSORIES : AETM160-4

ANTENNA MOUNTING SET AETM160-4

Dimensions (H x W x D) (O x H)

@
@
®
Parts list pcs
U40-160 clamp 4
U40-110 clamp 2
M12x250 headless screw | 4
M12x100 screw 4
M12 nut 12
Type AETM160-4 \

See above drawing
(pipe not included)

Weight

2,6 kg per point

Mounting diameter

50...115 mm pipe
60mm mounting pipe

Materials

Hot dip galvanized steel

Versions

Options

Box 22 Tel. +358 9 2790 120

Aeriol O 04401 Jarvenpaa Fax +358 92910 210
» y Finland

http://www.aerial.fi
aerial@aerial.fi



MOUNTING ACCESSORIES : AETM160-5

ANTENNA MOUNTING SET AETM160-5

Parts list pcs

U40-160 clamp 4

M12x250 headless screw | 2

M12 nut 8

Type | AETM160-5 \
Dimensions (H x W x D) (O x H) See above drawing

Weight 1,9 kg

Mounting diameter 50...115 mm pipe

Materials Hot dip galvanized steel

Versions -

Options

. Box 22 Tel. +358 92790 120 http://www.aerial fi
Ae rl 0 | O 04401 Jarvenpaa Fax +358 92910 210 acrial@aerial.fi
N y Finland



MOUNTING ACCESSORIES : AETM160-6

ANTENNA MOUNTING SET AETM160-6

U40-160L clamp 2

M12x250 headless screw | 2

M12 nut 6

Type | AETM160-1
Dimensions (H x W x D) (O x H) See above drawing
Weight 1,0 kg per point
Mounting diameter 50...115 mm pipe
Materials Hot dip galvanized steel
Versions -

Options _

. Box 22 Tel. +358 92790 120 http://www.aerial fi
Ae rl 0 | O 04401 Jarvenpaa Fax +358 92910 210 acrial@aerial.fi
N y Finland



260

O
O

165

5=
1 AEMK260-1

Iltem |Qty Name Bescription Standard Ngte
- 260 o 1 2 |AE260-1 Kiinnityspala
200 2 2 [HEX-HEADB BOLT - BIN $31-1|Kuusigkartaruuvi BIN 931-1 - M20 x 150
~ = - M20 X 190_1
3 2 |HEXAGON NUT - BIN 834 - [Kuusiemuftteri BIN 934 - M20
M20_1
Suunn. [9.12.1999 |at | Mittakaava | Liittyy Nimitys 1
AETM100—-260—1 AETM100—260—1

Piirt.  [9.12.1988 |at ”s Toleronssiluokka Nimitys 2
O O Tark. [9.12.1999 |at ’ middle z["-nljtitys?losarjo #105 putkelle
imi
Hyv. |9.12.1998 |at s

Tulostuspvm Materioali 1
09.12.1999 45-@ . Fe37
Aerial Oy Afhion koko
Tel.+358-8-2760 120 Fox.+368-9-2810 210

Masgsa u100

6.4 kg Box 22 04401 JBrvenpl Flnand
Pikpe// v cericl.fi cerivieerielfi

Piirustus.




MOUNTING ACCESSORIES : U40-XXX-110-160-1

MOUNTING BRACKET U40-XXX-110-160-1
LB -1 Leh-1510
ol .
' o I O
) I I Us 2 160 I £
| L |/ N
" !
e = ."'r e T
P T I|  —) [ -
J ,
i L
" | | | |
ol | {RIERE:
! C] I f
Type | U40-XXX-110-160-1 |
Dimensions See above drawing
(Hx W x D) (0 x H) | XXX=bracket length (180 in picture)
Weight 2.1 kg (180mm bracket)
Materials Hot dip galvanized steel
Versions -
Options -Bracket length (XXX)
(100,300,500mm in stock)

. Box 22 Tel. +358 9 2790 120
A.er | ﬂ ' 04401 Jarvenpaa Fax +358 9 2910 210
Finland

http://www.aerial.fi

aerial@aerial.fi




MOUNTING BRACKET U40-110-200-1

MOUNTING ACCESSORIES : U40-110-200-1

Ui 3-204
’ | Q
ULB-118 H O
M ysg. 180 J
- I | Ry =
4 | O
, | O
Type U40-110-200-1
Dimensions See above drawing
(Hx W x D) (£x H)
Weight 2.3 kg
Materials Hot dip galvanized steel
Versions -
Options Bracket length

Tel. +358 9 2790 120

. Box 22
04401 Jarvenpaa Fax +358 9 2910 210
Aerial Oy

http://www.aerial fi
aerial @aerial fi




180

130

O O

O O

U40/200

usq/10 it |
m E ]
_I 40300
— ™ Y
wr H =
; -
S—— Seale  |Ascocigtet with Deseription 1
brawn Tolerarce cloas Deszrigtion 2
Creex Descrighan &
py— riptien
Piat Date Materid 1
_E_@ @' Aerial Oy Duline szw
Nass=
WG
2




MOUNTING ACCESSORIES : U40-XXX-110-160-90-1

MOUNTING BRACKET U40-XXX-110-160-90-1

YL ig-1if Lsh- 16
O | L= 1B >
] — — N
| [ Q0 ] OO| =9
: / — L
e
- ' -
Type U40-XXX-110-160-90-1
Dimensions See above drawing
(Hx W x D) (0 x H) | XXX=bracket length (180 in picture)
Weight 2.2 kg (180mm bracket)
Materials Hot dip galvanized steel
Versions -
Options -Bracket length (XXX)
(100,300,500mm in stock)

. Box 22 Tel. +358 9 2790 120
A.er | Cl I 04401 Jarvenpaa Fax +358 9 2910 210
Finland

http://www.aerial.fi
aerial@aerial.fi



MOUNTING ACCESSORIES : U40-80-XXX-1

MOUNTING BRACKET U40-80-XXX-1

=
paW uicil =t
o Ty L_‘-]_rl- ?x 4
! e 'J"x
4 .
" @,
N
| =
=
=
I
_Type

Dimensions (H x W x D) (O x H) [ See dimensions drawing

Use to install differnt clamps with offset. All
clamps with 80mm hole distance can be used.
Use for example between mast leg and
assembly pipe, or in wall mountings.

| U40-80-XXX-1 |

Weight

0.9kg(200mm) - 2.0kg
(500mm)

Mounting diameter

Depending on clamp installed

Materials Hot dip galvanized steel
Versions -
Options Lengths in stock: 100, 200,
300 & 500mm
. Box 22 Tel. +358 9 2790 120 http://www.aerial.fi
Aer Ts I Oy 04401 Jérvenpéa Fax +358 9 2910 210 aerial @aerial. i
Finland



MOUNTING ACCESSORIES : U40-XXX-110-1

MOUNTING BRACKET U40-XXX-110-1

[

oy

15

O Q|

80
130

ORC;

160

50x10

|| UL0/110
O ]

L UL0.300 M
O ]

Type | U40-XXX-110-1 \

Dimensions See above drawing

(Hx W x D) (O xH) XXX=bracket length (180 in picture)

Weight 1.9 kg

Materials Hot dip galvanized steel

Versions -

Options -Bracket length (XXX)

(100,300,500 in stock)

. Box 22 Tel. +358 9 2790 120
Aer|0| O 04401 Jarvenpad Fax +358 92910 210
» y Finland

http://www.aerial.fi
aerial@aerial.fi




MOUNTING ACCESSORIES : U40-XXX-110-90-1

MOUNTING BRACKET U40-XXX-110-90-1

<:> U40/110

U40..300

&

130

O

b x @14

L0

15

80

O

QD

50x10..160

Type | U40-XXX-110-90-1 \
Dimensions See above drawing
(Hx W x D) (O xH) XXX=bracket length (180 in picture)
Weight 1.9 kg
Materials Hot dip galvanized steel
Versions -
Options -Bracket length (XXX)
(100,300,500 in stock)

. Box 22 Tel. +358 9 2790 120
Aerlol O 04401 Jarvenpaa Fax +358 92910 210
» y Finland

http://www.aerial.fi
aerial@aerial.fi




MOUNTING ACCESSORIES : U40-XXX-160-1

MOUNTING BRACKET U40-XXX-160-1

=

U40/160

b x $14

o\

[T T[T]
ORSY

U40..300 [

160
130
1
80
130
50x10..160

62,5
80

EEEmEN
QO

15

Type | U40-XXX-160-1 \
Dimensions See above drawing
(Hx W x D) (O xH) XXX=bracket length (180 in picture)
Weight 2.2 kg
Materials Hot dip galvanized steel
Versions -
Options -Bracket length (XXX)
(100,300,500 in stock)

. Box 22 Tel. +358 92790 120 http://www.aerial fi
Ae rl 0 | O 04401 Jarvenpad Fax +358 92910 210 acrial@aerial.fi
N y Finland



MOUNTING ACCESSORIES : U40-XXX-160-90-1

MOUNTING BRACKET U40-XXX-160-90-1

oy
=

g
O - U404 160 ,@(/
_G} 2 - Usd 300 _C
S — i / =
0o oy [SISIRRIYSIEEE
i E—1 ] A
B -
138
Type | U40-XXX-160-90-1 \
Dimensions See above drawing
(Hx W x D) (O xH) XXX=bracket length (180 in picture)
Weight 2.1 kg (180mm bracket)
Materials Hot dip galvanized steel
Versions -
Options -Bracket length (XXX)
(100,300,500mm in stock)

. Box 22 Tel. +358 9 2790 120
Aerlol O 04401 Jarvenpaa Fax +358 92910 210
» y Finland

http://www.aerial.fi
aerial@aerial.fi




1 2 3 b | 5 & 1 8
Us0..1 200
A |
UL0-110 (—'—————'—-'—"—'—'————-H——————————-———————j
I U40-10
d z )
— 5 - . B0
L
B - ] I S
o < < & & O
J[3y e ol e o I S N 2 . T S
—  Kaikki reigt o14
500 S0
700 | 172.5
¢ 800 2225
A {2:1} 2715
i 3725
Hugm! paéllekkaiset reiat 5 3175
—I_ _______ . 535
5
B Ves o A _
—I __________ -
e P
| e
P Y
Py
2
~ /
7
E )
7=
S
A — —
- e - Design at Scale [Assecioted with AD::E;TS‘1
— ~ - /J ~ Drawn at 1.5 [Tolerance cioss Description 2
- // F} "/ - Chack ' middle ggr?p_ﬁ‘on 3
e Approv. M500—M700-MB00_rungolle
- /‘ - Plot Date 1A Material 1
F ‘// - I\,w Ael'ial Oy Outline size
Mass :mn1n mymn ne
i/ www.aefe.fT aeria @aed el
DwG
1 | 2 3 L 18 B G




MOUNTING ACCESSORIES : AEVU-XXX-X MOUNTING CLAMP SET

AEVU-XXX-X MOUNTING CLAMP SET

Mounting clamp set AEVU-100-1 for VU-100 mast leg.

Type AEVU-XXX-X

Dimensions (H x W x D) (O x H) | See below

Weight 1.5 kg up
Mounting diameter see below
Materials Hot dip galvanised steel
Versions (AxBxC) AEVU-50-1 (50x40x95)

AEVU-65-1 (65x55x120)
AEVU-75-1 (75x66x141)
AEVU-80-1 (80x60x160)
AEVU-90-1 (90x78x168)
AEVU-100-1 (100x70x175)
AEVU-105-1 (105x91x196)
AEVU-120-1 (120x80x210)
AEVU-120-2 (120x105x225)
AEVU-135-1 (135x120x255)
Options -

Box 22 Tel. +358 9 2790 120 http://www.aerial.fi

. 04401 Jarvenpaa Fax +358 9 2910 210 aerial@aerial.fi
Aerial Oy Fn




MOUNTING ACCESSORIES : AEVU2-XXX-X MOUNTING CLAMP SET

AEVU2-XXX-X MOUNTING CLAMP SET

R

130

ﬁ ‘Hj _________ ____.-"
. T
= AT
.".. '.. .. _|'. , _I'. ...
S 'q. o _.':
.-_':-_'- __,-":_-"__r'
k 1 "-_.:'w—-" _."'__."'
LAl
Type AEVU2-XXX-X
Dimensions (H x W x D) (O x H) | See below
Iy il Weight 1.5kg up
\ Mounting diameter see below
Materials Hot dip galvanised steel

wAeriml Oy

Versions (AxBxC)

AEVU-50-1 (50x40x95)
AEVU-65-1 (65x55x120)
AEVU-75-1 (75x66x141)
AEVU-80-1 (80x60x160)
AEVU-90-1 (90x78x168)
AEVU-100-1 (100x70x175)
AEVU-105-1 (105x91x196)
AEVU-120-1 (120x80x210)
AEVU-120-2 (120x105x225)
AEVU-135-1 (135x120x255)

Box 22 Tel. +358 9 2790 120
04401 Jarvenpaa Fax +358 9 2910 210
Finland

http://www.aerial.fi
aerial@aerial.fi



MOUNTING ACCESSORIES : AEVU-XXX-X MOUNTING CLAMP SET

AEVUS-XXX-X SIDE MOUNTING CLAMP SET

:
If

\s, / Type AEVU-XXX-X

w Dimensions (H x W x D) (O x H)
Weight 2 kg + clamp set
Mounting diameter O
Materials Hot dip galvanised steel
Versions (AxBxC) AEVU-50-1 (50x40x95)

AEVU-65-1 (65x55x120)
AEVU-75-1 (75x66x141)
AEVU-80-1 (80x60x160)
AEVU-90-1 (90x78x168)
AEVU-100-1 (100x70x175)
AEVU-105-1 (105x91x196)
AEVU-120-1 (120x80x210)
AEVU-120-2 (120x105x225)
AEVU-135-1 (135x120x255)
Options Also for AEVU2-series

Box 22 Tel. +358 9 2790 120 http://www.aerial.fi
. 04401 Jarvenpaa Fax +358 9 2910 210 aerial@aerial.fi
Aerial Oy Fn




200
=
(Y \d
< N
~4/
o
o, = 80 Ny @
2 [ Q
[
L]
00 Q0 QO D S
[~
”m
/ \
29
130
Melemmat sivut samalla rei'ityksella
Design [22.5.2001 |at Scale | Associated with Description 1
AMLBO—120—1
Drawn |22.5.2001 |at 1:2 Tolerance class Description 2
Check ’ middle Kiinnityslatta 120°
Description 3
Approv.
Plot Date Material 1
45-@ . Fe37 Hzn
Ael'lal oy Outline size
Mass Tel+358-8-2780 120 Fox.+368-6-2810 210
Bex 27 04401 JErvenpl8 Finlond
hikpe// WV oriel.fi cerciBoerile
DWG
2 3 DrawingZ.dwg




:

Design | 10.1.2001

Scale

Drawn |10.1.2001

Check

1:2

Associated with
VU-65

Doseription 1
VUMK50-1

Tolerance class

middle

Description 2
VU—Paarrekiinhike

Description 3

Approv.
Plot Date Material 1
45-@ . Fe37
Ael'lal oy Outline size
Mass Tel-+358-9-2760 120 Fax.+358-8—2810 210
Box 22 04401 JBrvenpl Flnand
Pikpe// v cericl.fi cerivieerielfi
DWG

Y:\Werk\MDT\VU—kinnitys)\ kokp3.dwg




MOUNTING ACCESSORIES : AELM220-130-1

L-PROFILE MOUNTING BRACKET AELM220-130-1

R
LY
% ey |
"'I;:jlh'_l. .:;_ y I.--\. E‘_Q}
an
P max L1606
M1Za250
‘ | |
Type ' AELM220-130-1
Dimensions (H x W x D) (O x H) [ See above drawing
Weight 3.5 kg
Mounting diameter L140 max profile
0 30...115 mm pipe
Materials Hot dip galvanized steel
Versions -
Options -

. Box 22 Tel. +358 9 2790 120 http://www.aerial.fi
Aer | ﬂ I 04401 Jarvenpaa Fax +358 9 2910 210 aerial@aerial.fi
Finland



MOUNTING ACCESSORIES : AELM180-70-1

L-PROFILE MOUNTING SET AELM180-70-1

- 180

http://www.aerial.fi
aerial@aerial.fi

T
— -
- . y
I I
00 ( ))s
. | "-\\ ;__.-" .-'r
S I — _/_.-f
Type ' AELM180-70-1 |
Dimensions (H x W x D) (O x H) [ See above drawing
Weight 4.3 kg
Mounting diameter L100 max profile
0 60 mm assembly pipe
Materials Hot dip galvanized steel
Versions -
Options -
. Box 22 Tel. +358 9 2790 120
Aer Ts ' (3y 04401 Jarvenpéa Fax +358 9 2910 210
Finland



MOUNTING ACCESSORIES : AELM170-400-1

L-PROFILE MOUNTING BRACKET AELM170-400-1

320

MIZ150

may ©=I0mm

M12><250/A:E

Parts list | p
UL170-1 clamp 1
UI170-400-1 clamp 1
U40-160 clamp 1
4
2
1

M12x250 headless screw
M12x150 headless screw

max. L110

170

M12 nut 2

Type | AELM170-400-1
Dimensions (H x W x D) (O x H) See above drawing
Weight 10 kg

Mounting diameter

L110 max profile
0 30...115 mm pipe

Materials

Hot dip galvanized steel

Versions

Options

. Box 22
04401 Jarvenpaa
Ls Aerial Oy o,

Tel. +358 92790 120
Fax +358 92910 210

http://www.aerial.fi
aerial@aerial.fi



MOUNTING ACCESSORIES : AELM170-400-2

L-PROFILE MOUNTING BRACKET AELM170-400-2

Parts list
UL170-1 clamp
UI170-400-1 clamp

U40-160 clamp 1
M12x250 headless screw |6
M12 nut 12

24

I

may B=115mm
/ —H [
MIZ 258 /
M2 258
may. L13 =
= (=
Lg
H —
Type | AELM170-400-2

Dimensions (H x W x D) (O x H)

See above drawing

Weight

11 kg

Mounting diameter

L110 max profile
0 30..115 mm pipe

Materials

Hot dip galvanized steel

Versions

Options

. Box 22
04401 Jarvenpaia
s Aerial Oy o,

Tel. +358 9 2790 120
Fax +358 92910 210

http://www.aerial.fi
aerial@aerial.fi



MOUNTING ACCESSORIES : AELM170-400-3

L-PROFILE MOUNTING BRACKET AELM170-400-3

Parts list

UL170-1 clamp

UI170-400-1 clamp 1
VU130-1 VU-screw 1
M12x250 headless screw |4
M12 nut 10

zg

Vi-polt

M2+ 258

may @=115mm B

179

max. L1113
LBg

—H b
Type AELM170-400-3 \
Dimensions (H x W x D) (O x H) See above drawing
Weight 9.5 kg
Mounting diameter L110 max profile

[0 30...115 mm pipe
Materials Hot dip galvanized steel
Versions -
Options -

Box 22 Tel. +358 92790 120 http://www.aerial.fi

Ae r’i 0 I O 04401 Jarvenpaa Fax +358 92910 210 aerial@aerial.fi
N y Finland



MOUNTING ACCESSORIES : AELM220-250-1

L-PROFILE MOUNTING BRACKET AELM220-250-1

250

M124150

M124250 ‘

L & — ﬁ =

130 |
Parts list pcs

UL220-1 clamp
UL220-250-1 clamp
U40-160 clamp
M12x250 headless screw
M12x150 headless screw
M12 nut

Dimensions (H x W x D) (O x H) See above drawing
Weight 9.3 kg

Mounting diameter L140 max profile

0 30..115 mm pipe
Materials Hot dip galvanized steel
Versions -

Options -

CO(N N || =

Box 22 Tel. +358 92790 120 http://www.aerial.fi

Ae r’i 0 I O 04401 Jarvenpaa Fax +358 92910 210 aerial@aerial.fi
N y Finland



MOUNTING ACCESSORIES : AELM220-250-2

L-PROFILE MOUNTING BRACKET AELM220-250-2

238

250
220

May L1568

Max @115
] —
EE
UL220-1 clamp 1 ‘ 138 ‘
UL220-250-1 clamp 1 ' '
U40-160 clamp 2
M12x250 headless screw |4
M12 nut 8
Dimensions (H x W x D) (O x H) See above drawing
Weight 9.3 kg
Mounting diameter L140 max profile
0 30...115 mm pipe
Materials Hot dip galvanized steel
Versions -
Options _

Box 22 Tel. +358 92790 120 http://www.aerial.fi

Ae r’i 0 I O 04401 Jarvenpaa Fax +358 92910 210 aerial@aerial.fi
N y Finland



MOUNTING ACCESSORIES : AELM220-250-3

L-PROFILE MOUNTING BRACKET AELM220-250-3

258
o2 Max L14G
Max &115

Parts list | pcs |
UL220-1 clamp 1
UL220-250-1 clamp 1
VU130-1 VU-screw 1
M12x250 headless screw |2
M12 nut 6
Type | AELM220-250-3
Dimensions (H x W x D) (O x H) See above drawing
Weight 9.3 kg
Mounting diameter L140 max profile

0 30...115 mm pipe
Materials Hot dip galvanized steel
Versions -
Options -

. Box 22 Tel. +358 92790 120 http://www.aerial fi
Ae rl 0 I O 04401 Jarvenpad Fax +358 92910 210 acrial@aerial.fi
N y Finland



MOUNTING ACCESSORIES : AELM220-250-4

L-PROFILE MOUNTING BRACKET AELM220-250-4

pcs
UL220-1 clamp 1
UL220-250-1 clamp 1
Al-bracket L=300 mm 1
U40-160 2
M12x250 headless screw |2
M12x130 screw 2
M12x40 screw 2
M12 nut 8
08
I [T
AT — —
m ] _
I =====fE ===
g = | | W L]
| | 250
= 5 —
Type AELM220-250-4 \
Dimensions (H x W x D) (O x H) See above drawing
Weight 9,5 kg
Mounting diameter L140 max profile
0 30...115 mm pipe
Materials Hot dip galvanized steel
Versions -
Options -
Tel. +358 92790 120 http://www.aerial.fi
Fax +358 92910 210 acrial@aerial.fi

. Box 22
04401 Jarvenpaia
s Aerial Oy o,



MOUNTING ACCESSORIES : AEMK440-120-1

M440/55-MAST LEG MOUNTING SET AEMK440-120-1

Type  AEMK440-120-1
Dimensions (H x W x D) (O x H) [ See above drawing
Weight 1.8 kg

Mounting diameter 60mm pipe

Materials Hot dip galvanized steel
Versions -

Options -

N Box 22 Tel. +358 9 2790 120 http://www.aerial.fi
Aer | ﬂ I 04401 Jarvenpéaa Fax +358 9 2910 210 aerial@aerial.fi
Finland



MOUNTING ACCESSORIES : AEMK440-270-1

M440/55-MAST LEG SIDE MOUNTING SET AEMK440-270-1

I_.-' ot
11 [ T [T Gt HiZelIgenuby | o=
&0° — &
{:{- ?-" "r-n'":d- F——— ) N,
5 rl.-'_.- 3 ; ll-|I, 1 =l
Sl \ /!
r I.-Ii“" =,
'\"’x ),./ k_::{. -
HH'fr o . -
L~
- L] 1] - /
= o o -
‘% S -.-:.-:'-.--.”
155 S, e
1..%&; = T’ :?"‘ /
F
-
Type  AEMK440-270-1
Dimensions (H x W x D) (O x H) [ See above drawing
Weight 2.3 kg
Mounting diameter 60mm pipe
Materials Hot dip galvanized steel
Versions -
Options -

wAeriul Oy

Box 22
04401 Jarvenpéaa
Finland

Tel. +358 9 2790 120
Fax +358 9 2910 210

http

JIwww.aerial fi
aerial@aerial.fi



MOUNTING ACCESSORIES : AEWMAXXX-115-1

ADJUSTABLE WALL MOUNTING SET AEWMAXXX-115-1

Parts list pcs
U40-160 clamp
U40-130-XXX-1 clamp
M12x250 headless screw
M12 nut

O(N|—=|N

m
i
2
o

] 368 | —

A% mae.

Type | AEWMAXXX-115-1 \

Dimensions (H x W x D) (O x H) See above drawing
XXX=bracket length (300 in
picture)

Weight 5.1 kg

Mounting diameter 30...115mm pipe

Materials Hot dip galvanized steel

Versions -

Options -Bracket length (100,300,500mm
in stock)

. Box 22 Tel. +358 9 2790 120 http://www.aerial.fi
Ae rl 0 I O 04401 Jarvenpaa Fax +358 92910 210 acrial@aerial.fi
N y Finland



MOUNTING ACCESSORIES : AEWMXXX-115-1

WALL MOUNTING SET AEWMXXX-115-1

138
Bil
1iHE
| - -
Parts list pcs
@115 max. U40-160 clamp 1
U40-XXX-115-1 clamp 1
M12x250 headless screw | 2
M12 nut 4
| i -

Dimensions (H x W x D) (O x H) See above drawing
XXX=bracket length (100 in
picture)

Weight 3.2 kg

Mounting diameter See above drawing

Materials Hot dip galvanized steel

Versions -

Options -Bracket length (XXX)
(100,300,500mm in stock)

. Box 22 Tel. +358 92790 120 http://www.aerial.fi
Ae rl 0 I O 04401 Jarvenpad Fax +358 92910 210 acrial@aerial.fi
N y Finland



MOUNTING ACCESSORIES : AEWMXXX-115-2

WALL MOUNTING SET AEWMXXX-115-2

130

84

| — —> BT o R oN¢
E—
1iH}
Parts list pcs
o1 U40-XXX-160-1 clamp 1
3 max. VUP130-1 U-screw 1
M12 nut 2
Type | AEWMXXX-115-2 \
Dimensions (H x W x D) (O x H) See above drawing
XXX=bracket length (100 in
picture)
Weight 3.2 kg
Mounting diameter See above drawing
Materials Hot dip galvanized steel
Versions -
Options -Bracket length (XXX)
(100,300,500mm in stock)

Box 22 Tel. +358 92790 120 http://www.aerial.fi

Ae r’i 0 I O 04401 Jarvenpaia Fax +358 92910 210 aerial@aerial.fi
N y Finland



MOUNTING ACCESSORIES : AEWM200-750-1

WALL MOUNTING SET AEWM200-750-1

b M20x10 + nut

150
b7
- a7
1Q Qb Ot —
L
Y 017
M
Type  AEWM200-750-1
Dimensions (H x W x D) (O x H) [ See above drawing
Weight 12.9 kg
Mounting diameter 90mm pipe
Materials Hot dip galvanized steel
Versions -
Options -

Box 22 Tel. +358 9 2790 120 http://www.aerial. fi

Ae ri ﬂ ' 04401 Jarvenpad Fax +358 9 2910 210 aerial@aerial.fi
Finland



MOUNTING ACCESSORIES : AMWP250-250-1

WALL MOUNTING PLATE AMWP250-250-1

(N
o
P -
—at =
. . -
Co X P
=1
&, R
Bracket in the picture not included
L .
i
. 33 3
7 B o D 9 =
1 han! o
1
- 200 =
L 240 i
Type AMWP250-250-1
Dimensions (H x W x D) (OO0 x H) | See dimensions drawing
Weight 5 kg
Materials Hot dip galvanized steel
Versions -
Options -

. Box 22 Tel. +358 9 2790 120 http://www.aerial.fi
Aer | ﬂ | 04401 Jarvenpad Fax +358 9 2910 210 aerial@aerial.fi
Finland



MOUNTING ACCESSORIES : U40-110

MOUNTING CLAMP U40-110

- H.H'\-\.
__.-"" T
e -
- [
iy
" W,
"t
H"'-\. '\"\-._
. -
. - —
|:-F[.-H\. e, T i
l\."] .t -
h, S -
", . o,
b e .___.-"'
T H""\-\._ e
., e - -
e S

Biy - >
§ lo oy 7
I'\.._,::""‘ s
i
LY
i)
Type ' U40-110 |
Dimensions See above drawing
(HxW x D) (0 xH)
Weight 0.5 kg
Materials Hot dip galvanized steel
Versions -
Options -
Box 22 Tel. +358 9 2790 120

A.e ri ﬂ I 04401 Jarvenpaa Fax +358 9 2910 210
Finland

http://www.aerial.fi
aerial@aerial.fi



MOUNTING CLAMP U40-110-76

MOUNTING ACCESSORIES : U40-110-76

.-"'-..--- HHH'\-\.
-~ -,
H-\""\-H
o )
-'- -.\.H-\. .\-H-\.-\'-\_
- ey e
H .H‘-H m}
~ ;i Py
., o
H“‘x.H ™~ o
H“m. qaﬁ 4
Hhx" it .-f‘%
S
e -~
-
ZiE
2 -
'\.\.r
*-E-:g
5 :
H“H E )
.\-"'\-\.
T N
|
--":.""' I\\-\__,-"'lll
Il" T
b
Lo 114
Type ' U40-110-76 |
Dimensions See above drawing
(HxW x D) (0 xH)
Weight 0.5 kg
Materials Hot dip galvanized steel
Versions -
Options -

ﬂq«Aeric:l Oy

Box 22 Tel. +358 9 2790 120
04401 Jarvenpaa Fax +358 9 2910 210
Finland

http://www.aerial.fi
aerial@aerial.fi



MOUNTING ACCESSORIES : U40-160

MOUNTING CLAMP U40-160

o
'\-\.,\_:}sh. "'\-\.H;‘:_ "
. N\
=" o, '
'M,_"- "h\.__\x \\'-\_"’w-.
o,
~ \“{‘w SO
. Dy oy i,
e \'\.\\ HH"". _,-:.'\"'\-\._ ™ "\-H_ﬁ"'?:"_h-\.\_
"'\-\.,\_HH \__.‘:,—o—'—"-\-\._kh_"'\-k_. H‘-\"'-\_\._\.‘
Hx‘"\-\. M.H:\-\.‘ S
", e
"'\-\.'\-\.HH "\-\.\,J
HH"'\-\. e
. o
. e
T .-'"'-.-
|
11g"
e - o
\_{: \\}_.-'
e, =
g
13
8
T |\- _—J___ J_|
QO O O
h.:.bi\h{ N
& -
r | \
160
Type ' U40-160 |
Dimensions See above drawing
(HxW x D) (0 xH)
Weight 0.75 kg
Materials Hot dip galvanized steel
Versions -
Options -

. Box 22 Tel. +358 9 2790 120
A.er | ﬂ ' 04401 Jarvenpaa Fax +358 9 2910 210
Finland

http://www.aerial.fi
aerial@aerial.fi



MOUNTING ACCESSORIES : U40-160L

MOUNTING CLAMP U40-160L

168

ilH

e 7

e O ORO

13¢

Type \ U40-160L (plate version) \
Dimensions See above drawing

(HxW x D) (0 xH)

Weight 0.4 kg

Materials Hot dip galvanized steel

Versions -

Options -

. Box 22 Tel. +358 9 2790 120 http://www.aerial.fi
Aer | ':] | 04401 Jarvenpaa Fax +358 9 2910 210 aerial@aerial.fi
Finland



MOUNTING ACCESSORIES : U40-160X

MOUNTING CLAMP U40-160X

H-“"“HH P __,_--"
-
|
L L
Ht'__,j-n
O
-
—l_‘_ J _'_5—
IT" \ T F M -'_‘l"'_ =]
" U LN_F":I l"\-_.--'|I s
E— | —
T
|'IF Hh"
L
Type | U40-160X |
Dimensions See above drawing
(HxW x D) (0 xH)
Weight 1.5kg
Materials Hot dip galvanized steel
Versions -
Options -

Box 22 Tel. +358 9 2790 120 http://www.aerial.fi

Ae ri ﬂ ' 04401 Jarvenpaa Fax +358 9 2910 210 aerial@aerial.fi
Finland



MOUNTING CLAMP U40-160T

an

MOUNTING ACCESSORIES

: U40-160T

1| L
Y [ 7S
(2 e &
l— | | L LN S
| T
- . --\._\-
-~ -
- _:-',1
. i T
-~ o
;..l' r > "'.-- . _ﬁ-g =ﬁ:-§'~-.
| - A )
13 ':-F.‘ .___.-" ; L - .___-' -
- ! ___.-" - - _.;_-:;'
EE] _TenzaN DAY -~ .-':'r -~ -
I .-'"-. ’ " ’ -'§
o r! - R ol
- -'-'--_._ d:a"?\, l'-'-_.'-\.__h Fjﬁ.}l' T -‘:::
- - 3 —
'y o -] |- e
i AN Y e .____.--_--______&
| { _.". | '-\.,1'\"‘-.\, -".l._.-,'.'.'."..
I\ II ) - | Jl HH"'\-E__-'.'-”"
II __.-' .|
Wb T o
v',..-'x .-_.-' i
., ""\-.___ L~ __.-""-
"""\-\.__ - - _.-"-
e
- .
- - M.H'\-\.H
Type | U40-160T |
Dimensions See above drawing
(HxW x D) (0 xH)
Weight 1.3 kg
Materials Hot dip galvanized steel
Versions -
Options -

- Box 22 Tel. +358 9 2790 120
A.er | ﬂ ' 04401 Jarvenpaa Fax +358 9 2910 210
Finland

http://www.aerial.fi
aerial@aerial.fi



MOUNTING ACCESSORIES : Z160-1

MOUNTING CLAMP Z160-1

154

&)

132
5

Type ' 7160-1 |

Dimensions See above drawing

(HxW x D) (0 xH)

Weight 0.5kg

Materials Hot dip galvanized steel

Versions -

Options -

. Box 22 Tel. +358 9 2790 120 http://www.aerial.fi
Aer Ts ' 04401 Jérvenpaa Fax +358 9 2910 210 aerial @aerial. fi

Finland



MOUNTING ACCESSORIES : U50-300-1

MOUNTING CLAMP U50-300-1

- 270 -l
f.Jffi W QO o 9.
- 40 -
130
&0 _l _
[
129

300
Type U50-300-1
Dimensions (H x W x D) (O x H) [ See dimensions drawing
Weight 2,5 kg
Mounting diameter 0 115-258 mm pipe
Materials Hot dip galvanized steel
Versions -
Options -

Box 22 Tel. +358 9 2790 120 http://www.aerial.fi
Fax +358 9 2910 210 aerial@aerial.fi

. 04401 Jarvenpaa



MOUNTING ACCESSORIES : U50-380-1

MOUNTING CLAMP U50-380-1

350

I" o
Q) ORo L Q L
a0
130
HH..""\-\.\._\..H .-...-.-.___.-'
] [
360

Type U50-380-1

Dimensions (H x W x D) (O x H) [ See dimensions drawing
Weight 2,5 kg

Mounting diameter 0 115-330 mm pipe
Materials Hot dip galvanized steel
Versions -

Options -

. Box 22 Tel. +358 9 2790 120 http://www.aerial.fi
AE rl ﬂ I 04401 Jarvenpaa Fax +358 9 2910 210 aerial@aerial.fi
Finland



MOUNTING ACCESSORIES : U100-160

MOUNTING CLAMP U100-160

L I
 p——

1)
Ll
| 1
[ E ’ Te—— B3 I::I
&
= Q0
1
= '3“ -
Type Ul100-160
Dimensions (H x W x D) (O x H) [ See dimensions drawing
Weight 1 kg
Mounting diameter 0 100 mm pipe
Materials Hot dip galvanized steel
Versions -
Options -

Box 22

. 04401 Jarvenpaa

Tel. +358 9 2790 120 http://www.aerial.fi
Fax +358 9 2910 210 aerial@aerial.fi



MOUNTING ACCESSORIES : U100-220

MOUNTING CLAMP U100-220

]
O

il

Dimensions (H x W x D) (O x H) [See dimensions drawing
Weight 2,1 kg

Mounting diameter 0 100 mm pipe
Materials Hot dip galvanized steel
Versions -

Options -

_ Box 22 Tel. +358 9 2790 120 http://www.aerial.fi
Aerl ﬂ I 04401 Jarvenpaa Fax +358 9 2910 210 aerial@aerial.fi
Finland



MOUNTING ACCESSORIES : U100-260

MOUNTING CLAMP U100-260

i x\,m Iy
—
|
T T - - 00— 7T T
A
ol
e Y .-"‘\:I
|
“‘:'-.__.-" L
g
| 11 N £
Faall)

Type Ul100-260

Dimensions (H x W x D) (O x H) [ See dimensions drawing
Weight 2,3 kg

Mounting diameter 0 100 mm pipe
Materials Hot dip galvanized steel
Versions -

Options -

Box 22 Tel. +358 9 2790 120 http://www.aerial.fi

Ae ri ﬂ I 04401 Jarvenpaa Fax +358 9 2910 210 aerial@aerial.fi
Finland



MOUNTING ACCESSORIES : U40-160F

MOUNTING CLAMP U40-160F

.d—,\_.ll . .-'::..__.-"
I'ﬁ-d-"'l K A
[/ .
S | — (':r:l ) .-.__ = ﬁl\j
I K i - ’ ':.i"".:“l\.
E I | | g H ey i
2 LY 5 r .-..__..-' ___—'—'_'__,T;"'J:‘:'- H"'-\.
| -~ - .".LF_.-_'"_"-_'_.-"'#.# .-'"-j
~ e o
= : - #’{‘ﬁs:i:‘__:_—:rf*
— a-HH'H _j,;:;"ﬂi# ::.
e |
- "‘_"'hll rﬁ;’-\:—f# .-"'--fr]‘lll
-.[_h e ..__|_:...-- ._..___.-.-'-;.___._-ﬁ
e ___\__\_-\_\--\-"; "\-\.: "'-\._-"'-..:_:_,-'-'-":::.. -;,I
- ."'\-.E'.:- J .--.-"' g
T T 1 I |
Type ' U40-160F |
Dimensions See above drawing
(HxW x D) (0 xH)
Weight 1.3 kg
Materials Hot dip galvanized steel
Versions -
Options -
. Box 22 Tel. +358 9 2790 120 http://www.aerial.fi
Aer Ts ' 04401 Jarvenpa Fax +358 9 2910 210 aerial@aerial fi
Finland



MOUNTING ACCESSORIES : ASSEMBLY PROFILE

ASSEMBLY PROFILE

55
.-"""-- rd
T
,f’fﬁ g 3 5
5 o o F e
) #;,f L o . ol
.r.; - '-.:-""-- .-:!-_':I
-
. 2
Dimensions (Hx W x D) (O x H) |70 x 70 x 6000
Weight 3.58 kg/m
Mounting diameter M12 bolts
Materials Aluminium
EN-AW6063 T6
Versions -
Options Anodic oxidation

Multiple mounting methods

_ Box 22 Tel. +358 9 2790 120 http://www.aerial.fi
Ae rl ﬂ I 04401 Jarvenpaa Fax +358 9 2910 210 aerial@aerial.fi
Finland



	Mounting accessories
	Roof top masts
	AM100
	AMRTXXX-YY-2
	AMRT100-3-15
	AMRT60-3-2
	AMRT100-6-3-1
	AMRTM400-20-4-3-1
	AM60-3-1
	AM100-3-1
	AMTP100-76-1

	Roof top mast accessories
	Concrete weight
	AMTPL250-1
	AMFT500-250-1
	AEMF120-800-1
	AEF60-250-1
	AEF100-250-1
	Mounting collar
	Ladder collar

	Overhang mounts
	AEMK500-70-1500-1
	AEMK500-70-1500-2
	AEMK70-60-1500-1

	Loudspeaker installation pipe
	HPM8-89
	Overhang guy anchor
	AM90-6-1

	Tube mounting sets
	AETMXXX-60-115-1
	AETMXXX-60-115-2
	AETMXXX-60-115-3
	AETM60-1-S
	AETM50-200-110-1
	AETM50-380-1
	AETM160-1
	AETM160-2
	AETM160-3
	AETM160-4
	AETM160-5
	AETM160-6
	AETM100-260-1

	Mounting brackets
	U40-XXX-110-160-1
	U40-110-200-1
	U40-300-110-200-1
	U40-XXX-110-160-90-1
	U40-80-XXX-1
	U40-XXX-110-1
	U40-XXX-110-90-1
	U40-XXX-160-1
	U40-XXX-160-90-1
	AM578-1

	VU mounting clamps
	AEVU-XXX-X
	AEVU2-XXX-X
	AEVUS-XXX-X
	AML60-120-1
	VUMK50-1

	L-profile mounting clamps
	AELM220-130-1
	AELM180-70-1
	AELM170-400-1
	AELM170-400-2
	AELM170-400-3
	AELM220-250-1
	AELM220-250-2
	AELM220-250-3
	AELM220-250-4

	Clamps for 60º profile
	AEMK440-120-1
	AEMK440-270-1

	Wall mounts
	AEWMAXXX-115-1
	AEWMXXX-115-1
	AEWMXXX-115-2
	AEWM200-750-1
	AMWP250-250-1

	Mounting clamps
	U40-110
	U40-110-76
	U40-160
	U40-160L
	U40-160X
	U40-160T
	Z160-1
	U50-300-1
	U50-380-1
	U100-160
	U100-220
	U100-260
	U40-160F

	Assembly profile


